
Day of 8 Billion 
 

 Today’s Date: __________________________________ 
 Number Visualizations 

o Write the numeral for 8 billion: ______________________ 
o 1 cup of uncooked rice has approximately _______________ kernels. That means you would need 

_________ cups of rice to equal 8 billion. 
o If you wanted to spend 1 second shaking hands with every Canadian (38.25 million), it would take you 

443 days (1 year & 2.5 months). Should you desire to do the same with every person on the planet, it 
would take you _____________ days (253 years & 8 months). 

 The UN estimates that the world population reached 7 billion on October 31, ________.  
o That means it grew by 1 billion people in only ___________ years.  
o In that amount of time, there were only 348, 192,000 seconds. This means the population grew by about 

____ people every second. 

 

 

 



 


